[image: ][image: ][image: ][image: ]Weekly Quiz 5 – 27.3.20

1.  5 6 7 = 6 0 +  ………. + 5 0 0
2.  3 4 6  =  3 5 6  -  ……….
3. Using compensation, add 2 3 5 and 6 5.
4. Find the pattern and add the missing numbers:
5, 7, 9, 8, 10, 12,……. ,13, 15, 14, ……. ,18, ……. , ……..
5.  If I know that 1 7 + 3 = 2 0, I know that  
a) 1 7 + 6 = …….
b) 1 7 0 + ……. = 2 0 0
c) 1 7 0 + 5 0 = …….
6.  Circle the parallel lines.
       



7. Make a fact family with these numbers and write all 4 equations that go with them.
4	      3 2        8
8. Draw an array for 4 x 3 x 5.
9. Draw a bar model to represent this problem.
Libby the therapy dog visits 5 children an hour. If she stays at school for 
4 hours, how many children can she meet?
10. Calculate these using regrouping:
a) 2 6 x 5		c) 2 9 x 3
b) 1 8 x 4		d) 3 5 x 5
11. What are the missing measurements and the perimeter of this shape?







[bookmark: _GoBack]12. Draw a pictogram to represent how many pairs of shoes each of your family members have.


6 0 m
2 4 0 m
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